TEXT BOOK EXERCISE 8.5

Q. 1. Use suitable identity to get each of the
following products :
i) x+y)(x+Y)
(@) (y + 2x) (y + 2%)
iii) (a + 7b) (a + 7b)
(iv) (2a~-b) (2a~-b)
(v) (2x - 3y) (2x - 3y)

o )3

(vif) (2x + 3y) (2x + 3y)

(viii) 101 x 99

o (“10) (x'no)

(x) 612 - 392

X 3_y X Jy
o (3 4)(3*7)

(xii) 54 x 4¢



————

Solution.
(D (x+(x+y) = (x4 y)?
= x4+ 2xy + _\'2
[ (a+b)? = a® +2ab+ b*]
(i) (y+2x) (y+2x) = (y + 2x)>
= () +2 X yX2x +(2x)?
[ (a+b)? = a* +2ab+ b? ]
= y? +4xy+4x? Ans.
i) (a+7b)(a+7b) = (g +7b)>
= (@)’ +2X a'X Tb +(7b)>?
[ (a+b)? = a® + 2ab + b?]
= a’ +14ab + 49b* Auns. ‘
() (2a=b)(2a—b) = (24— b)?
= (2a)* —2x2a X b + (b)?
[ (a=—b)* = a® —2ab + b?]
= 4a% —4ab + b2 Ans. |
W) @x=3y)2x=3y) = @x=-3y?
= (2x)* =2X2x X3y +3y)®
[ (a=b)’ = a® - 2ab + b?]
= 4x% —12xy + 9y Ans. |

bbb )
(V) >y 2] = FEE
el
= (x) —2%ix 5V >y
[+(a=b)* = a —24p 4 p?y
2 1 2
=X “x)'+zy Ans.
(vii) (2x + 3y) (2x +3y) = (2x + 3y)?
= (297 +2 X2xx3y 4 (3y)?
[ (a+b)* = a% 4 20p 4 12
= 4x> +12xy +9y2 Ans,
(viif) 101 x 99 = (100 + 1) (100 - 1)
= (100)? - (1)

| [“(a+b) (a=b) = 2 _ 2,
= 10000 — 1 = 9999 Ans,

2
..—-X- = )2"(—}-}-)
[ (a+b) (a=b) = 02~b2] .

2
2_Y _ Ans.
100

2 _39% = (61 + 39) (61 - 39)
(x) 61°—39 [ a* — b* = (a+b) (a~b]‘
= 100 (22) = 2200 Ans.

3 2
X _3_X £+§_X)=(‘x‘+l)
=) (374 )\27 4 2 4

2 3 3y Y

X X y )’)
X—— 4| —=
_(—) +2X | ( A

=X

[+ (a+b)? =a® +2ab + b*f:

2
X 8 9 ,

= —+4+=-xy+—vy° Ans.
PR ET

“(xii) 54 x 46 = (50 + 4) (50 — 4)
= (50)? — (4)2 _
- [v@+by(a-b)y =42 _§
'=2500 - 16 = 2484 Ans.
i) (+p)(p—gq) = (p+ 9 (p—q)
. = p2 - q2 Ans. ' :
Q. 2. Use the identity (x + a)(x+b)=yx
(@ +b) x + ab to fing the following :
@) x+ 2) (x + 3)
@) (x+2) (x - 5)
@) (x-7) (x + 3)
@) @x +5) 4x + 1)
™) (7p + 6) (7p — 3)
i) (5y2 -1y (Sy? + 2)'
Solution, ‘

@ (x+2) (x4 3)

= (x)2+(2+3) X +(2) X (3)]

“(x+a)(x+b) =2 +(a+b) x+d
= x2 +5x+6 Ans,




o~
i) C*D(x~8)a(,p +(2-9)

*((~9)

VXS
( ( .’(.‘*b) = 114“0""‘ _t"'ﬂb

= <310 A
i) (x=T(x+3)

= y? =14 x4+ (=Y
xta) (x4 p) =2 +(a +b)x + ab)
= x2-4.x-2l Ans.
() (4x+5)(4x 4+ 1)

= (4x)? +(5+1) ax +(5M

x+a)(x+p) = 2 +(a+b)x + ab)

= 16x? +24x + 5 Ans.
®) Tp+6)(1p-3)
= 0P +6-3)7p +6)(-3)
CAxva)(x+p) = x? 4 (a +b) x + ab)
= 49p” +21p—18 Ans.
(vi) (Syz—l)(sy2+2)
='(5y,2)2+(—1+2) y2+(-—1)(2)
[<(x+a)(x+b) = x* +(a +b)x +ab]
= 25y* =5y —2 Anms. |
Q'ls'h‘m‘f"n‘“’mgsquansbyush\g
the identities :
() (xy + 32)*
(@) (zx'-- gy)z
AsH 2
i) (—a+6c)(-a+k)=(a+c)
(iv) (1.2p - 1.5¢)?
») @2+ 3y??
) (x - y*2)*
Solution.
(1) (xy+3z)2 - (xy)2 +2 X xy ><32+(3z)2
[~ (a+b)? =a* +2ab+b?)

= x?y? +6xyz+ 92" Ans.

2
~4e 3
(éd) (’5‘ 2")

. 3

2
. 2 3 (-—v)
- (3s) ~2x3e 237 * (7

(- (a - bY =d ~2ab+ V)

9 2
’%,1-20*’2’ Ans.

(iil) (~a+c)(—a+c) = (—a+‘c,)21
o —-a)(c)+(c
(—a)’ *[.?(24’;)2 =a* +ab+ V)
= & —2ac + Ams.
iv) (12p-1.59)
i) ( :(1.2’,;’2_2“2?,,‘(15.,)4»(154;’
((a—b) =d’ —2ab+F"]
- l_44p2—3.6pq+2.2542 Al
V) (x% +3y%)? '
w = (32))2+2(x2) x (3y%)+ 35"V
[:(a+bf =a +2ab+b’)
= x4+6x2y2+9y4 —
W) (x—y2)? =& -2xxx Yz + ("D
[-(a—b) = a" —2ab+b’]
= x? —2xy’z +y*7* Ams.
Q. 4. Simplify :
) 2+ 3y)% + 3 + xy)?
~¢) (2m + 5n)? + (20 + Sm)?
(i) (ab + be)? - 2abc
@) (9 - S@)* - Op + 5q)*
Solution.
@ (2 +3y)? +@+ %)
= () +2(% x3y) +3y)? +(3)?
+2@3xx’y) +(xy)?
= x‘+612)"+9)’2 +9 +6X2)’ +14y2
= x4y 41207 +9y% 4+ 9 Ans.
(i) 2m +5n)2 + 2n + Sm)?
= (2m)* +2X2m x Sn+ (Sn)?
+@2n)? + 2 % 2n x 5m + (5m)?
= 4m® + 20mn + 25n° +4n® + 20mn

+25m?
= 29m* +29n? + 40mn Ans.



evaluate :

(iil) (ab + bc)? = 2ab2e
= (ab)* +2Xab X be + (be)? —2ab’c
= a%h? +2ab?c + b2c? = 2ab?c
= q2p? 4 b%c¢? Ans.
) (9p-5¢)* = (9p + 5¢)°
= (9p)> =2 9p X 5¢ +(59)* — [(9p)?
+29p%x5q) +(5¢)%]
= 81p> —=90pq +25¢* - 81p?
=90pq - 25q2
= 81p® —90pq + 254>
~81p? — 90 pg — 25¢*
= — 180pg Ans.
Q. 5. Prove that :
(i) (a+ b)2 - (a-Db)?=4dab
@) (2x + 3y) (2x - 3y) + 3y - 5z) By + 52)
+(5z-2x) 5z +2x) =0

(i) (2x + 5)2 - 40x = (2x - 5)2
@) x-y%+x+y?=2x2+y?)
Solution. :
(i) LH.S. = (a + b)?> - (a - b)?
= a® + 2ab + b* - (a* - 2ab + b?)
= a? + 2ab.+ b2 — a2 + 2ab — b>
= 4ab = RH.S.
L.H.S.=RHS. ,
(@) LHS. = 2x + 3y) 2x - 3y) + By - 52)
By + 52) + (5z — 2x) (5z + 2x)
= (202 - 3y)? + (3y)* - (52)% +
(52)%* - (2x)?
= 42— 9% + 9y - 25z2+25z2 4x?
=0=RHS.
LHS.=RHS.

(iii) LH.S. = (2x+5)%> —40x
= (2x)% +2X2x X5+ (5)2 —40x
= 4x® +20x +25 — 40x

= 442 —20x+25
= 2x—5)? =RHS.
L.HS. = R.H.S.

(iv) LHS. = (x=y)* +(x+y)
= 22y +y  +xP +2xy +y
= 2x? +2y2 = 2(x% +y?)
= R.H.S.

2

L.H.S. = RHS.

Q. 6. Using jdentities,

(i) 992 (ii) 1032

(iii) 5.1% (iv) 9.8%

) 71 % 69 (vi) 1.02 x 0.98
Solution. ,

(i) (99)* = (100 = 1)

= (100)%2 = 2 x 100 + 1
= 10000 - 200 + 1 = 9801 Ang,
(i) (103)% = (100 + 3)2
= (100)% + 2 % 100 x 3 + (32
= 10000 + 600 + 9 = 10609 Apg,

Gii) (5.12 = (5 + 0.1)?
' = (52 +2% 5x0.1+(0.12

1
e 1
_25+2x5x10+00

=25 +1+0.01 =26.01 Ans

Gv) (9.8)2 = (10 — 0.2)?
= (10)2 - 2 % 10 x 0.2 + (0.2

2
= 100 — 2x10xﬁ+004

=100 — 4 + 0.04 = 96.04 Ans.
(v) 71 %69 = (70 +1) (70 - 1)
= (70)2 = (1)2 = 4900 — 1
= 4899 Ans. |
(vi) 1.02 x 0.98 = (1 + 0.02) (1 — 0.02)
- =(1)2 - (0.02)2 = 1 - 0.0004
, = 0.9996 Ans.
Q. 7. Using a? — b2 = (a + b) (a - b) evaluate:
@) 1532 - 1472 (i) 64% - 362
@ii) (1.05)2 - (.95)2  (iv) 12.12 - 7.9%
Solution. |
(i) 153 - 1472 = (153 + 147) (153 - 147).
= (300) (6) = 1800 Ans.
(64 + 36) (64 - 36) |
= (100) (28) = 2800 Ans.
(i) (105)% - (95) = (1.05 + .95) (1.05 - 95)°
=(2) (0.1) = 0.20 Ans.
() 1212 - 792 = (12.1 + 7.9) (12.1 - 7.9).
2 1

= (20 - o
(20) (4.2) 20><w

(i) 642 - 362 =

= 84 Ans.



7 3.
%n% -Usmg raxem =, @+b)x+ (ii) Complete the identity : a? - 2ab + b
L
’ ) JUD X RUE e e e e
u) 105 XA;M @) 5.1 %52 @ (a-b) b) a- b
(i) 463x o ) 103 x 94 () a-b ) @ - b
" 9 i ™) 103 x 9.8 (iif) Complete the identity : (@ + b) (a-Db):
golution. e ol b
@) 105 x 102

=100% + (5 + 2) 100 + 5 x 2
10000 + 700 + 10

(c) a* - b? (d) a-b. :
(iv) Complete the idcntjty c(x+a)(x+b)=

]

o S X
= 10710 Ans, (a) a*h,a +b (b) (a+b),ab
@ 31X352=(5+01) (5402 (c) a® + b2, a*b? (d) a - b, ab.
= (52 + (0.1 +0.2) (5) (v) To solve (y + 5) (y — 5) identify the suitable
 +0.1x02 identity :
=25 + 1.5 + 0.02 (@) (a + b)? = a* + 2ab + b?
= 26.52 Ans. (b) (a - b)? = (a® - 2ab + b?)
(ur) 46)(49:(—50_4)(50_1) (c) (a+b)(a—b)=a2—b2
= (50 + (-4 -1)50 + | (d) a*+ b2 = ab.
=4 =D 3 o) 3 9
= 2500 - 250 + 4 (vi) Solve : (EP‘*'ECI) (EP—ECI)
= 2254 Ans. | 5
(v) 103 x 94 = (100 + 3) (100 — 6) @ Pl oy Sgh B2
= (100)2 + (3 — 6) 100 + (3) 23 il
| 5:6) @ 2P -2q @ 2p+ig
= 10000 + (- 3) 100 — 18 inand o &0 4 b
= 10000 — 300 — 16 (vii) To multiply (2x — 3) (2x + 5), identify the
— 9692 Ans. _ 1dent1_ty that should be 1213ed 2
) 93 %92 =(9+03)© +0.2) (@) (a+ b)z(a ol bz
= (92 + (03 +02) 9 + 0.3 - (b) @+ by =a”+2ab + b
(o) (x+a)(x+b)=x2+(a+b)x+ab
0.5 9+006XO'2 @ (@a-b)2=a%-2ab + b2
4 gi B o VDL (2p + 3) and 2p - 3q) are sides of

rectangle than its area is -

= 85.56 Ans. ((l) 2])2 " 3q2 (b) 4p2 . 3q2
(v) 10.3 x 9.8 = (10 + 0.3) (10 - 0.2) (©) 4°-9¢ () 6p2g.
= (10 + 0.3 - 02) x 10 Ans. (i) (b) @®> + b% + 2qb
~03 x 02 @D (@) (@ by2
" =100+ 1-0.6=100+094 (iii) (¢) a* - b2
= 100.94 Ans. ' (iv) (b) (a + b). ab
Q. 9. Multiple Choice Questionsb):z ™ (© (@ + b) (q - B = a2 - 2
(i) Complete the identity (a + b)* = 9
w - A
BF g+ b” + 200 | M) (e) x + @) (x+b)=x+(a + b)
(c) a®+ b* —2ab :

(d) a2 -+ bz_ | (vlll) ‘(C) 4p2 o 9q2‘ X + ab



'E Objective Type Questions ]‘

1. Multiple Choice Questions :

T — — — ——. — — — — — — —— — — —-—

() 0.645 x 0.645 + 2 x 0.645 x 0.355 + 0.355

x 0358 & i
(@) 1 b 0
() -1 (d) 2

-Ans. ((I) 1 .

(i) (a+b) +(@a—-b)?=
(@) 2a+2b
(b) 2a* +2b?
() —4ab
d 2a* -2b%.
Anms. (b) 24% +2b°.
(itf) Find the value of 512 —
(@) 200
(c¢) 400
Ans. (a) 200.
(iv) Identify (a® —
(@ a*+b*+2ab
®) a® +b*—2ab
(c) (a+b)(a—b)
(d) (a+b)?
Ams. (¢) (a+b)(a—b).
(v) What will be the area of rectangle with
length 3 mn and breadth 4 np ?
(a) 14 mnp (b) 12 mnp
(c) 12 mn?p (d) 12 m2np.
Ans. (c) 12 mn?p.

(vi) Find the value of the expression (x — 3) +
2forx=1,

(a) 1
(c) O
Ans. (c) 0.

(vii) Find [hﬂ‘ sum of ab — be, be - ca and ca -
ab.

(a) 2abc
(b) 3

------------

492
(b) 100
(d) 300.

(bh) -1
(d) 2.

|
(c) 2ab + 2bc + 2ca i

d) 0
Ans. (d) 0.
wiii) (a + b)? = a* + o + b? |
(a) ab (b) 0 ‘
(c) 2ab (d) - 2ab.
Ans. (c) 2ab. 1
2. Choose True/False for the followlng ]
questions : ;- g __ _ff. %ﬁ%_af__ i
(i) Expressions are formed from variables m
- .constants. (True/False)
Ans. True. . 1
(if) Terms are added to form expressions. 1
| (True/False)
Ans. True. . i
(iii) With the change of value of variable in

- Ans.
(v)
Ans.
)"

Ans.
3. Fill in the blanks :

@)
Ans.

(i)

Ans.

(#ir)

Ans,

(iv)

Ans.

(v)

Ans.

the expression, the value of expression

does not change. (True/False)

False. -1
7x and 7y are like terms.  (True/False)
False. 1
The sum of ab — bc, be — ca, ca-abis
zero. (T rucIFM '
True. :

Terms are formed as a product of ...
factors.

Expression that contain only one te
called a ..............

monomial.
The terms 7x and 14y are
like.
A monomial multiplied by monomial
always give a

monomial.
(@a-b) =

----------

-------------

--------------



